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L (B HES) 88,0303 11 »48L 46,480
03 222 (RIHY) 2222 1,448,388 1,363,063 85,325
OSEHFEXN S4x3 938,898
A=) 1,912,180 x 17 «12& 390,085
-2 100,000& 17 x12& 20,400
— st 50,000& x17¥ x12& 10,200
— g Al 80,000& x17H x12& 16,320
— XAdXE 100,000& 178 x12& 20,400
— A sd = 463,300& x5H 43| 9,266
— &= 1,912,180 x 17X 43| 130,029
-2 1,912,180 122 5%+ 12& 13,768
—52422E
113,860 x17H 42 122 «150% 139,365




SN DEHEDY
M HY2IZH(nsdF )
el QlHE2HH (RSAISSLESIAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
N EEEEEE
14,230 x17Z +«25A| 2t 128 72,573
— =g 91,0903 x 17 10 15,486
— BE S0t 1,912, 180& »17H »40%*23] 26,006
—g&3z 25,000,000 »3H 75,000
O=x& e o2 509,490
—Jlas 1,912, 180&*10¥ x12& 229,462
— A2 100,000& «10H » 128 12,000
—l2s5+E 1,912, 1803 x7H «5%+ 12& 8,032
— WSl 50,0003 x10H 128 6,000
— = A 80,0003 x10¥ 128 9,600
ST = 100,000& = 10H 128 12,000
— &0z 1,912,180 10H »43| 76,488
—HUDD2LY 13,8602 *10F *523E*150% 88,811
b ELE
14,2303 x 10 «25A1 2+« 128 42,690
— QX 91,0903 x10H 10 9,109
— ZE S| 1,912,180 » 10 »40%=*23] 15,298
Jledd (LS (LSAMIELEIH)(nSMHEE 48,000 43,200 4,800
3
Jl2Zdbl(nsd ™) 48,000 43,200 4,800
202 odl 48,000 43,200 4,800
01 2ol 48,000 43,200 4,800
OusSdE RF=A 2 A
20,000 *20H x 103 x12& 48,000




Al Of & AF & E N A
P022H T HOIA DEASSHN HA
SH: HSASSASAL
o HYSSAMYL 29
Sl NSHES UAMUIA NB(RSALSHIN) (B9 ®R)
= d =
2N -3 -2 (SH) - NHEMY - BES Off &F o4 %l‘&ﬁ Hns2
NERSSASL 565,209 567,999 £2,790
NTSEMEL 2Y 238,054 241,970 ~3,916
NEHSE ABAHA HB(REAMSSHSA) 238,054 241,970 ~3,916
REX 2l 68,630 49,266 19,364
201 Yot Fh| 35,690 34,626 1,064
01 Ak 22l 26,960 25,350 1,610
Ogur+ gl 25,520
—~NESABRAANY MEHY DENE S M
6,000% +3002 +23] 3,600
—ZUNSIH(RUYR, 2YREIHY)S U
HE2l ZeH3HS FIE 50,0009 «240H A #23] 2,400
— SO XY H I O AEIH R
8002 *1,00004 800
— 220 SUH(R2Y, LY AAHE)
100,000 *93| 900
~NEAES UEHA HMT S(305)
30,0002 #1504« 122 5,400
~NSHESS 2RAH0L ME
1,000% *5,0000H 5,000
—HITH NSH PE AEH M
1,000 *335 +2000H 600
—AEIH BYEIDE BYNCE M
110,000 *67H 4 x23] 1,320
—AEIH EEA BB PC 7Y
5002 +3, 00004 1,500
~NEXNSS YA =BUIIE 8 2
110, 00021 10 A 1,100
—QABSE A L 7Y 1,500 «4000H 600
—~HYSEHS MEAAY 2 EHODIE
2l 200,000 *53] 1,000
—YHPY 2ASH, 220 7
10,0002 *100JH 1,000
~NEX YL THTY 30,0002 10 300
o2zl 1,440
~SHYX Y BHIIMANY BSOS S
204 Al B 8,0002 x5 +32! 128 1,440
02 2zl 8,730 9,276 A546
O2zZe2 ¥ AAl 8,730
~MERVEUY AU ST W2
2,530 *1500H + 122 4,554
~ SRS SABANLY X224
308,000 +122 3,696
—RHYX ZEEHE ASE
40,0008 *1CH 122 480
202 01t 2,340 2,240 100




2N AASUHSEARL
HE: JPYSSTAYL 29
el NASXHSE URAMHA MB(REMASESH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 2,340 2,240 100
OXg RHYX & 22 2 AAdH 22
o4 bl 150,000 »2H x33| 900
OXtSAteld e K& &= ol
20,0003 «3H 22 «12& 1,440
204 AR HH| 2,400 2,400 0
03 EZYREHI 2,400 2,400 0
OSMIEESRE 200,000 x1H =123 2,400
301 LEPEAZ 10,000 10,000 0
12 JIE24 3 10,000 10,000 0
ORHEXXE delg Na 30,000& *90CH 2,700
OXNsSXH=g2d MO Za=3
100,000& =10 1,000
ONSIEE UJACHHE R0 ABHIZ2AZ
25,0003 252« 1Y 6,300
405 XtatE SHI 18,200 0 18,200
01 HAtH ESFH S 18,200 0 18,200
OXNSA HESE XIshad ¢
15,000, 000& = 1CH 15,000
OdA Cils A9 7€ 800,000& *4CH 3,200
ANASILEHE 20 - = 169,424 171,504 A 2,080
201 ¢et24] 160,524 163,004 A2,480
01 At 22l 42,872 43,852 A 980
OZTEZAL APX & D120 31 SHUH=E M
150& +3,0000H 122 5,400
O2AREE Y EFAM M= 60R+7000(~12& 504
OZAXIA WEE 2& DXAM M
603 *30001 x12& 216
OoREE 0/t WEHE 23 XM ME
603 *8000H x12& 576
OXNsSA WEHE | IXAM ME
603 *4,00000 x12& 2,880
OXsx WHEHE AMESXA HE
100& =10, 0000H 1,000
OuEig IXNA £5E dIoINd Zeld &4 +
e 237,000 x3CH 43 2,844
OLRXA eletel =4/ 228 7Y
237,000 »1CH x4 3 948
Ogx s e =z S
160,000 x 1+ 12& 1,920
O¥=s&E M 130& =28, 0004 3,640
OMYDXM M= 602 =10, 0000H 600
ogssXA M 603 *5,0000H 300




2N AASUHSEARL
HM: FUYSZAIOA 29
L= B o

el NASXHSE URAMHA MB(REMASESH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXsx LHE M LML SHHE MH
50,000& * 1304 *23] 1,300
o=t 2,880
—DE AEXY F4YR =X S2 HalYl
8,000 x6H 6L «12& 2,880
OHNEZE 2 dNER 082
17,000, 0002 14! 17,000
OPYise X & M XtHl 18,0008 <43 128 864
02 =224l 117,652 119,152 A 1,500
ONSAUEHE 2 =+ REZ 106,860
—sI*E= 2,530&+2,50000 x12& 75,900
—YotREZ 430% *6,00001 x12& 30,960
Ods® 94X Xz ZEEE(SE)
1,000, 000& = 1CH 1,000
Oflsg gl e SEHAZ 56,0003 *22] 112
Ods® IX U RFUI(SE)
2,000,000 =1CH 2,000
OHSE IXAAE T2 X224
500,000& 123 6,000
Oogls® X 1&g =& S 1,000,000& =14 1,000
OXNSIA (HE5E AX XtEF) 650003 +10H 65
OSZNERES (Hs® X )
135,000 *1CH 135
OZEFUE SHR=S 40,000& 123 480
202 O4dl 2,400 2,000 400
01 = LH 4 Hi 2,400 2,000 400
OXsx LeiE n&E ML = & el &
2l SHE I 150,000& »4H x43] 2,400
303 L&t 3 6,500 6,500 0
01 243 6,500 6,500 0
ONHEE e+ F4 Y3
400,000,000 1% 4,000
OEHE MEXE H5E AX 2RF L&
5,000& *500CH 2,500
HE2AIH(ANSASEARL) 327,155 326,029 1,126
ClARAH(NEALSESINH) 233,651 232,365 1,286
ol 2| 233,651 232,365 1,286
101 @14l 233,651 232,365 1,286
03 B2 (RIAHA)2Z2NHE > 205,438 205,438 0
OXNsSXsSE HNs&sd g2 22X 41,322
—Jlas 1,949,560 «1H «12& 23,395
-5 1,949,560 1 5%+ 123 1,170
—d0= 1,949,560 1 x4 & 7,799




2N NSXASSARL
BH: HHSIAU(NSHSSASL)
Crol: o2 oy (DEASSHESIN)

SA - ZE-B(EN) - NRAY - B S il &t o il
— X< 98,8503 x 1 10 989
— ZE S0t 1,949,560 » 1H »40%*23] 1,560
— ey 100,000 x1H x12& 1,200
— Sl 50,0003 x1& %123 600
— =AM 80,000& x1H 123 960
- X324 100,000& 1H 128 1,200
— =0 20,0003 «1H »53| «12& 1,200
— AlI2tel =% 20,8103 +5A1 2+ x12& 1,249

O Xtgael dREx 41,322
- JlZs 1,949,560 1H «12& 23,395
- &403 1,949,560 1H 42 7,799
- 25 1,949,560 1 »5%* 12& 1,170
PN R = 98,8503 x 110 989
— ZE S| 1,949,560& 19 x40%*23| 1,560
- AR 100,000& 1H 128 1,200
— wSHl 50,000& x1H 128 600
— g4l 80,000& x1&H 128 960
- X23xY 100,000 x1H «x12& 1,200
— EZ0H 20,000 x1H x53] «12& 1,200
— ANZ2te =g 20,8103 *5A1 2t=1H » 12 1,249

O MHE PREX 81,472
—Jl=s 1,949,560 x2H x12& 46,790
— &0z 1,949,560 2% x4 & 15,597
-5 1,949,5603 »1H »5% 122 1,170
—Qlx=g 98,850 x2H 10 1,977
— HES0td| 1,949,560& »2H *40%*22] 3,120
— ARy 100,000& x2H x12& 2,400
— WSl 50,0003 x2& 123 1,200
— = A 80,000& x2H 128 1,920
- Xx&E+H 100, 000 2% 123 2,400
— S0 20,0003 «2F x5 128 2,400
— Azt =g 20,810 *5A| 2t x2H « 123 2,498

OSAME gREX 41,322
—Jlas 1,949,560 x 1« 12& 23,395
— &0z 1,949,560 1H 42 7,799
-2 1,949,560 x1H 5%+ 12& 1,170
—Qx=g 98,8503 x 110! 989
— ZE S| 1,949,560 & 19 x40%*23| 1,560
— A2 100,000 1H = 12& 1,200
— n Sl 50,000& x 18 «12& 600
— =AM 80,000 x 1 128 960
—X232Y 100,000& 1H 128 1,200




2N AASUHSEARL
BE: HWRARY (HSHSSARL)
el QlHE2HH (RSAISSLESIAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
— =04 20,0003 53| x 128 1,200
— A2tel g 20,8103 *x5A1 2+ x 122 1,249
04 JIZHHZ22XREE S 28,213 26,927 1,286
OFAr2el o8 25,467
—JlzEs 73,2803 x1H+22U 128 19,346
—F=58=H 73,2803 1B 42«12 3,518
— 2+AlH| 2,0003 «1H 22 «128 528
— g 73,2803 x 18 «12& 880
—dEdzs BEdREH 99,5203 x 18 «128 1,195
OJIZHZ22X 4HEE JIH2E3 2,746
—IUHLBERY S 24,936,960 *3.495% 872
— ORI QLAYBERES 872,000&*12.27% 107
—ZUHZRES 24,936,960 x4.5% 1,123
—NEPERYS 24,936,960& *1.65% 412
—MTHEERES 24,936,960& *0.929% 232
|2 AU (NSUHSZARL) (DRSNS SESIH) 93,504 93,664 A 160
J2d3H (NSAHESMRL) 93,504 93,664 A 160
201 YEr2 2t 55, 104 59,104 ~4,000
01 At 2t 2l 27,046 27,046 0
Oger==&H| 20,902
—JlE2 ARES 100,000& 16X 1,600
— SAMJ =88 & KX 22l 500,000 *3CH 1,500
—SAI(EH & E8 7))
480,000 »3CH x4 3 5,760
—SANEXFEY 23,0003 *10H A +128 2,760
—doI =y ¥ HAEYH P2
237,000& *4CH 43 3,792
—QE) A2 FL(LAMNELX)
143,000 102 A 1,430
—d22I] 22l 25,0003 x2CHx12& 600
— &3t E4 203 +15,000L 300
—ANSUSEANRL EHA 5 FM2AUES
UM 85 S 78) 150,000& 122 1,800
—203Hl =2 80,000& x12& 960
—Hld el (e s sHEa)
25,0002 401 x4 & 400
O=gtl 6,144
—AASAHEEYR =& E2 A
8,000& x16H 43| x 128 6,144
02 =24l 28,058 32,058 A 4,000
O =322 % XA 14,258
—dsAE= 50,000& x1CH » 128 600




SIS EAR A
HYR2HIH (HSASEMRL)
J23H(ANSUHEEMPL)(LSMBEESEH) fEH)
A B O9(SA) - NRANY - BES il 2
—oigo AE OHT NER
37,4003 *23| & +12& 898
—dIIMNEE 800,000& =128 9,600
— oot AIEE 200,000& 1228 2,400
—ANSUSEANRL QUIASRH R S
Ml 400,000& x13] 400
—Sdgs AE2 30,000& 10 =122 360
OA&ZEHl s X bl 13,800
-2 € =& | 5,000,000 =14 5,000
— CCTV =X 2=l 300,000 7 CH 2,100
— A MAFX(UPS) il LA
2,000,000 14| 2,000
— QA o SN2+ 100, 0003 =6 CH 600
—QEESEY RRE= 200,000 *3H & 600
—HAU =5 22 (dF) 1,500,000 *14] 1,500
—OlRA 1,25 =25 AR
2,000,000 =14 2,000
202 Oddl 38,400 34,560 3,840
01 = LH 4 Hi 38,400 34,560 3,840
ONSXHESLR =& 2UH0HI
20,0003 x16H 103/« 128 38,400




